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PROGRAM CONTROL, CONDITION AND LOOP
STATEMENTS

-1 daka ) Jaadl -1
-1 @ 0 5 ) bl das puds
( if —statement) 4uaill 13 Ales -1
(switch —case ) @osill s -2
-2 (iif — statement ) 4shpdd) 13 dlay -1
« (condition ) &l (§8as e aldie ) maliyall jaw 44 ylay oSaill sl
- fa O L
- AUl Sl g aal g da sy aladiad Alla S lada dd f aasiu -]
if condition
statement
end
ex:-
x=input(‘enter the number =)
if x>0
disp(* x is positive number ")
end
13 ¢ jf da il Ales (e e 3aS else e padien - (if / else) Adeadl -2
Ji Le () if dlead 4l i) Gadad agde iy if Ales oyl (383
G 5 peall 33bs ¢ else Lo lil) 383 Y (58 else Aes
if condition
statement(s)
else
statement(s)
end
ex:-
x=input(‘enter the number =")
if x>0
disp(’ x is positive number ")
else
disp('x is negative number ‘)
end
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if condition 1
statement 1

elseif condition 2
statement 2

elseif condition (n-1)
statement (n-1)

else

statement (n)

end

G e 222l G G ¢ 230 JAAY MATLAB 4l el yo S/ JUa

§ Ja sl 5l Al
X = input (‘enter the number ="
if x>0
disp (' this number is positive ')
elseif x <0
disp (‘this number is negative ")
else
disp(‘this number is equal 0 ")
end

C5a¥) ) A eall g aal e Fda 3l Jeall (5 giad o)) cany -: Al
Jsaall & 4sm ol (Logical or Relational Operators ) dsikiall

B
Operation 4ads 5l Logic Operators
Aahid) OOl

e B <
b ol e S8 P
e S S
S sl e S o
(S sl __
S ¥ ~:
And 2
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Short-circuit And
(scalars) asé 4soaal) all &&

Or |

Short-circuit or
(scalars) Lssé 4aaal) 23l |

Not -

(switch — case) @il dlaa -2
- Lo Aalal) Al 5 Ll Jamall priall e e olaie ) eyl jpes 48y ylay oSaill 238505
switch variable
case value 1
Statement 1
case value2
Statement 2
case value n
Statement n
otherwise
Statement
end
case &_ke 2 (Value) il as Lt lias fay &3 (variable) el dad sel 5 Y ol gals yall Ty
ey statement dleall 245 25 value mdll (e 5) ae 33k variable el dad CulS 1)
3okl A Jiiy e gw variable sl dad as value mdll (e ) (el Y 135 ¢ 1S
. laaay dleall 2w S g otherwise
. il Glas g J) sl Al QLal MATLAB sk el e €1/ i
clc ; clear ; close all ;
disp (' convert L to centimeters ");
L=input (' Enter the length :")
units= input (" Enter the unit of L :''s");
switch units
case {'inch','in'}
y=L*2.54;
case {'feet','ft'}
y=L*2.54*12;
case {'meter','m'}
y=L*100;
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case {'millimeter',' mm’}
y=L/10;
otherwise

disp(‘'unknown unit');y=nan
end
display( [ num2str(y) ,'cm']);

>>file_name

convert L to centemeters
Enter the length : 5
Enter the unitof L : m
500 cm

A Slas 55 ) sk el M lall oy 5
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(loops statements ) sl wldls 3
(e e daad el SV (e de sane 28t ) S aadid Jasd) (e de sane (A
Ll Sl s e e 53 e MATLAB gebin (s siag ¢ &l yall
(for ... loops) for <lals -1
(while ... condition) while wlals -2
- Laa Ll Sl dglae 8 28l el sl MATLAB gebion padiay
return s break gl jal -1
.continue L) i) yal -2
-: for wldls -1
PRENARERE P JRT RGN VR FIPUCA PV TP IFE - SRE SO VRV P | PR PO PESRKE 1 I PR
1o Ll dalall dipall 5 ¢ Bali 3l e S 5 Al g Aol e 4l 20 alae
for i=n:k:m

statement(s)
end
BTN
Caxd) dad -
el Aol dad o
el 32l 30 Hlasa -: k
Cdaall Al dad i m
10 A 1 e dlaey) e @lﬂ\ JEA
Ex:-
S=0;
fori =1:10
S=S+i ;
end
disp (s)

ol Y1 Al Y ¢ o Maall aly ) e <l 13 K Bl laie Jagt -; ddaada
.1 » MATLAB gl

- Al cYaladl GLIMATLAB . 2l el S/ 1l
5000

1) S
s=0 ; n=1
for n=1:5000
s=s+n;
end
disp (s)
sol.

n
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>>file_name
12502500
5000
2) S=) n
n=1
s=0;

for n = 1 : 5000
s=s+n"2,;
end

disp (s)

sol.

>>file_name
41.679

3) =Y =

s=0;
forn=1:5000
s=s+1/n?%;
end
disp (s)
sol.
>>file_name
1.6447
N1 ol & e s MATLAB 4ab el iiS) / 206

% Program Calculate Factorial Number
n = input (' the number of factorial =) ;
fact=1;
fori=1:n
fact = fact * i ;
disp ([1 fact ])
end
>>file_name

the number of factorial = 8

1 1
2
6
24
120
720 43
5040
40320
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( while ... condition) while <@l .2
- Ll Aalall drpall 5 (3iaia Lo da i alola Baantie O ja el s¥1Ae ganma ) yel il 220
while condition
statement(s)
end
1,15 de¥igsmaa) 0.5 W jlazasalh s 10 1 e dlae ) c.uag;u&\ EAU‘)._IM / Jlia
. While »aaiulb(,2,25,3,35,4...10
s=0;
i=1;
while i <= 10
S=s+i;
i=i+ 05;
end
display (s)
sol.
>>file_name
S =
104.500
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1- 12+2%2 4 3%2+...+10007?
2-1-1/3+1/5-1/7+1/9-....

3-1/(12.32)+ 1/ (32.52)+ 1/ (52.72) + ...

1)12+224 32+ ...+ 10002
s=0;
for k=1:1000
s=s+k”2,;
end
display (s)

zealipall 2 il

>>file_name
s = 338350

2) 1-1/3+1/5-17+1/9-....

n = input (' input the number =)
form=1:2:n
sl=s1*-1,;
s2=s2+sl/m;
end
display (s2)
el Ll 2a il

>>file_name
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input the number = 4

s2 = 0.6667
3) 1/(12.32)+1/(32.52)+1/(5%2.7%) + ...
s=0;
m = input (' input the number =") ;
fori=3:2:m
s=s+1/ ((i-2)"2*i"2);
end
disp ([m s])
zeali ) i il

>>file_name

input the number =4
4.0000 0.1111

Q2 ) a) Write MATLAB program to calculate x ,
ax’?+bx+c=0

C
whena=0,x = ——
b
_ —b+Vb2—4ac
Use the quadratic formula Xx = a when a # 0

and a=2,b=-10,c=12
sol.
% This M-file solves the quadratic equation using the quadratic formula
a=2;
b=-10;
c=12;
% Different cases for a = 0 and otherwise :
if a==0 % ax?+bx+c=0
=-c/b % bx+c=0
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else
X()=(-b+sgrt(b”r"2-4*a*c))/(2*a);
X(2)=(-b-sqrt (br"2-4*a*c))/(2*a);
end

display ( x)

>> file_name

X =

3 2

Q2 )b ) The steady-state current | flowing in a circuit that contains a resistance
R=>5,capacitance C =10, and inductance L=4 in series is given by

E
| =

1
2
anC)

\/R2+(27T(1)L—

where E =2 and ®=2 are the input voltage and angular frequency respectively.
Compute the value of I. (Answer: 0.0396)

|=E/sqrt(R" 2+ (2 *pi*w*L-1/(2*pi*w*C))"2)
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Breaking out of loops J1SHl1 Jaa ¢ z oAl (1

SSaall g AN (L lal) Gany 8 2Uad 08 (Kl ¢ad laaaad Al &l jall ade o8 A Janll
a5 g ¢ return sl break <Y aladio) LSy Alal) ol 4y ¢ adlgiil Jad ) Sall (e

for / while
statement(s)
if condition
break

end

end

ex:-

clc ; clear ; close all ;

for m=1:10

if (m”~2)>= 36
break ;

end

display (m) ;

end

sol.

>>file_name

-l Jeall

36 nsll ZA1 10 — 1 cpe 22 g pe gl / Jlie

while loop plhasiul Alls S

clc; clear ; close all ;
m=1;

while m< 10

if (m"2)>=236
break ;

end

display (m) ;
m=m+1;

end
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continue 4ay (2

ada g piiall &y ) sl Aslal) ) for loop 4wulsall dalsd) Jads & continue <Y aodiuy
83 g2 gall (Aama )l Jaadl) el gV AL 288 jladg e M) ) ssll L3 while loop
axiing o end Ales aladiuly deadii) A8 Al Y a5 5 cONtinue e (e Aol

for / while
statement(s)
if condition
continue
end

end

ex:-
clc ; clear ; close all ;
for n=1:10
if rem(n,2)~=0
continue ;
end
display (n);
end
sol.
>>file_name
n =
2
n =
4
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try — catch (@&bwa (5

Badl (o Al cUad¥l dallas 8 exception sLiiny) 45 b MATLAB gl s padivg
3 pall addiud ‘“;“d\j try — catch (3lia alaaindy G_AUJ.A\ D oL aa0al) Lt & ol

try
commandsl
catch
commands2
end

_- gl

8 led e & gaa Jldial aa gy 30 commandsl el sV g qaias i 5 sucall 028
5 s cOMMandsl /¥ 3 ) end dlea )3 pale Jiiy Und Giasy ol 138 try dlea
catch dles ) JESY1 218 commandsl el s 2 3 Uad chas 130 (Slg ¢ (daanha
Guinl Und 3 ga g a5 Al S padid) U8 (e iS5 15 commands2 el sY) il

Ex:-
clc ; clear ; close all ;

daaal) ol el el 12a G gas

a = input ('Enter first matrix :');
b = input (Enter second matrix :');

try
c=a*b;
catch
c=NaN;

disp (' wrong dimensions for matrices multiply *);

end
display (c);
sol.
>>file_name

Enter first matrix : [13;24]
Enter second matrix : [57 ;6 8]

c=
23 31
34 46

Z\JJUS‘MM\&J)MJJQeaé}y‘&)w\om‘dlcéjm;ﬁju#)w\uﬁu

>>file_name

.b
-2 A gl (8 shmall jealic JWA) g geali ) 34
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Enter first matrix : 2 *ones (2, 4)
Enter second matrix : magic ( 3)
wrong dimentions for matrices multiply
C =

NaN

el ¥ A Uad Gigan e Jay Las catCh Alen Lgraa®i Al al g¥) 385 syl () JaaY
Ctry Ades Lgiaa®s Al
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